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1) Simplify (leaving your answers in index form):

a) 2� $ 2�

b) 3� $ 3�

c) 5� $ 5�

d) C
 $ C�

e) 2� $ 24�

f) 8� $ 84


g) 44� $ 4�

h) E4� $ E


i) C
 $ C4


j) 74� $ 74�

k) C4� $ C4�

l) 3� $ 3�

e) 24� / 2


f) 64� / 6


g) 34� / 3�

h) 5� / 54�

i) 4� / 44�

j) 54� / 54�

k) C4� / C4�

l) 9� / 94�

a) 5� / 5�

b) 3� / 3�

c) 7� / 7


d) C� / C


3) Simplify (leaving your answers in index form):

a) (2
)�

b) (5
)�

c) (3�)�

d) (7�)


e) (2�)4�

f) (54�)


g) (3
)4�

h) (6�)4


i) (5�)�

j) (2�)4�

k) (34�)4�

l) (6�)4�

2) Simplify (leaving your answers in index form):

a) 3G�H
 $ 4G
H�

b) 6C�E� $ 4C�E

g) 2C�E� $ 8C
E�

h) 7GH $ 5G�H

m) 3C4�E
 $ 5C�E

n) 6G�H4� $ 5G4


c) 
��B7D65

�B0D7

d) 
��B=D0

�B,D

i) 

�B,D7

�B,D*

j) 
��B,D7

�BD,

o) 
��B+D0

�B+D+

p) 
��IJK+

�I7K*

4) Simplify (leaving your answers in index form):

e) 5C�E� 


f) 8G�H 


k) 7L
ℎ� 


l) 4NO
 �

q) 3C4�E� �

r) 8G
H�P4� 


Exam question: 

Simplify:
24C�E� $ 2C�E�

3C�E�

28

37

57

x10

23

82

4-2

y-2

x0 = 1

7-7

x-9

35

53

34

75

x6

2-8

6-9

3-11

59

46

5-3

x0 = 1

94

28

512

318

76

2-12

5-6

3-10

6-6

50 = 1

2-12

312

60 = 1

12a6b9

24x8y8

6x5y3

8x2y

25x6y8

64a10b2

16x7y8

35a6b2

9y4

7x3y3

49g4h10

64m3n6

15xy3

30a3b-4

4y-3

7v2w2

27x-12y24

64a4b6c-8

16x2y2


